[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

0
il

-+ [§ S W S 7 ) KN O N0 S

Ratio

0.9

0.8 .
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poM_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch4

N 0.1: - : : :
0.00F +++-cferefreeereene i o
0 E : : : . :
>008__ """ E'---- --. ........ E'""""E ________ .- -------
> E : . N . .
2 E : : : : :
S0.07F - beeoe
o - .
£ 0.06 -
5] E : :

0.05F--+-+i-enefooi-

O

0.03F -+ rbeeeeforis

0.02F -+ rieeeeforis

OXCF| SRR N
o LGE' D i 11y
I :
o i R EEEEEEEEEE e Y | -

AN 8111111 -

=30 20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> E E E E E

0. 0.45F - preyees priyeees AR

€ é : : : :
 OAf b
£0.35F - Breseeedeees
2 E : : : :
o S SR S
o E : : : :
3] E : : : :
£ 0.25------ SRR St
) E : : : :
O R R

05
01 oot
T

L

Ratio

10 15 20
Sim. PV z (cm)

I
o

Ax ;

o

[(6)]



	Contents
	Page 1


